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1.  Which of the following statement(s) regarding the Harappan Civilisation is (are) correct?
1. The Dholavira is the largest Harappan site in Gujarat.
2. The evidence of ‘dual’ interment, the so-called ‘Sati’ burial, are found from Lothal.
3. Lustrous Red Ware is a hallmark of mature phase of Sorath Harappan.
{A) 1,2and3 (B) Only1l Only 1and 2 {C) Onlyland 3

2. Which of the following statements are correct?

1. Alexander invaded north-western India in 326-327 BCE.
2. He was accompanied by scholars who wrote about his campaign.
3. Megasthenes’ Indica is a valuable historical source for Mauryan India.
Megasthenes’ Indica is survived only in quotations (fragments) by latter writers.
1,2,3and 4 (B) Onlyl,2and4 {C) Only1l,3and4 ({D)Only1,2and3
3.  The Annirruvar (five hundred swamis of Aihole) were the most celebrated .................... of southern India.
{A) Weavers’ group {B) Group of soldiers
(C) Federation of feudal lords U}j Merchant guild

4.  There are similarities as well as differences between the Buddhist and Jain religions. Choose (ldentify)
the differences between the two religions.
{A) Atheist (B} Simple Lifestyle | Good Conduct
{C) Work-oriented ﬁ Non-existence of Atma (Soul)

5. Which of the following statements regarding Rajendra Chola-| are correct?
1. He extended his sway up to the Ganga in the north and assumed ‘Gangaikonda Cholan’ title.
2. Hecongquered areas which are now known as Malaysia, Indonesia, Thailand, Sri Lanka and Maldives.
3. He built the famous ‘Brihadishvara temple’ dedicated to Lord Shiva.
4. He founded a new city called ‘Gangaikonda Cholapuram.’
(A) 1,2,3and4 (B) Onlyland2 {C) Only1,2and3 @ Only1,2and 4

6.  Which of the following statement(s) is(are) correct?

1. The Gadhaiya coins were in circulation in the last centuries of first and initial centuries of second
millennium CE.

2. They were in circulation mainly in northern and western India.
3. They were bronze coins coated with silver.

{A) Onlyland2 (B) Only2and3 1,2and 3 {D) Only 2

7. Which of the following statement(s) is(are) correct?

1. In 1934 Pandit Madan Mohan Malaviya constituted a breakaway Congress Nationalist Party.

2. Pandit Madan Mohan Malaviaya didn’t appreciate Gandhiji’'s movement of Dalitoddhar.

3. Gandhiji accepted the ‘MacDonald Award.’

4.  With regard to Poona Pact (1932), the Congress Working Committee adopted ‘neither rejection nor

acceptance’ stand.

(A) 1,2,3and4 Only 1 {C}) Onlyland?2 {D)Only 1and 3
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Which of the following statements regarding The Charter Act of India (1813) are correct?

1. Made provisions for education in British India.

2. Christian Missionaries were formally permitted to propagate Christianity.

3. ‘Governor General of Bengal’ was redesignated as ‘Governor General of India.’

4. British East India Company became solely an administrative body.

Only 1and 2 (B) Onlyl,2and4 {C}) Only1,2and3 (D) 1,2,3and4

Which of the following statement(s) is(are) correct about Ramananda?

1. Hewelcomed disciples from all walks of life - irrespective of their caste, creed, gender and religion.
2. Hisverses are integral to Guru Granth Sahib.

3. He was the contemporary of Akbar, the Mughal Emperor.

4. Ramanujacharya who believed in ‘Social Equality” was his Guru.

Only 1 and 2 (B) Onlyland3 {C}) Only1,2and 4 (D) Only 1 only

Which inscription of the Kushana period informs about the system of ‘Dual Governorship’ in a province
of Kushanas?

{A) The Panjatar inscription

{B} The Rabatak inscription (Afghanistan) of Kanishka
The Bala Bodhisattva image inscription from Sarnath
{D) Mathura pillar inscription

Who of the following Gupta dynasty issued the Ashvamedha coin?

1. Samudragupta 2. Chandragupta - Il {Vikramaditya)
3.  Kumaragupta - | o 4. Skandagupta
{A) Onlyland2 (Bf Only1and 3 {C) Only2and3 (D) Only1,2and4

Which of the following statement(s) is/are correct about the second Karnatic War?

1. The siege of Arcot took place in 1751.

2. The war took place between British East India Company led by Robert Clive and Nawab of Arcot.
3. The Nawab was supported by the french East India Company.

4. Arcot is in Tamil Nadu.

(4&] 1,2,3and 4 (B) Onlyl,2and3 {C} Only3 (D) Only1

Which of the following statements regarding the Anglo-Mysore Wars are correct?
1. Hyderali won the first Anglo-Mysore War.

2. Tipu defeated Baillie in the second Anglo-Mysore War.

3. Tipu Sultan was defeated in the third Anglo-Mysore War.

4. Tipu Sultan was killed in the fourth Anglo-Mysore War.

{A) Onlyland4 (B} Onlyl,2and4 {C) Only1,3and 4

1,2,3and 4

With regard to Mahagujarat Andolan which of the following statement(s) is(are) correct?
1.  The Chief Minister of the Bombay State was against the idea of having a separate state.

2. Afew students martyred in front of the Congress House near Lal Darwaza, Ahmedabad on August
8, 1956.

3. Rivers like Mahi, Tapi and Narmada were not considered for major projects during the first
five-year Plan was the cause of Mahagujarat Andolan.

4. Indulal Yagnik didn’t contest the election of 1957 out of his protest against Mahagujarat Andolan.

{A) Onlyland2 Only1,2and3 {C) Only2 (D)1,2,3and 4
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15. Who abolished the use of Persian as court language and ordered the use of Vernacular Languages?
( ) William Bentinck (B) Charles Cornwallis
{C) Warren Hastings (D} None of the above

16. Which of the following statements are correct with reference to the Walker’s Settlement?

1. Walker’s Settlement was carried out between the Gaekwads of Vadodara and the Saurashtra chiefs.

2. The Gaekwads of Vadodara didn’t like it because they felt it as an interference of Britishers in
Saurashtra.

3. The Gaekwads of Vadodara welcomed it as it ensured a regular payment without any military
expeditions.

4. It brought Saurashtra under British control.

{A) Onlyland?2 Only 1 and 3 {C}) Only1,2and 4 (D) Only1l,3and4

17. Where did Sultan Bahadur Shah permit the Portuguese to construct a fort?
{A) Bharuch Diu {C) Surat (D) Jafrabad

18. Who founded the Gaekwads’ Maratha rule in Vadodara? _
{A) Damaji Rao - | (B) Damaji Rao - Il (C) Sayaji Rao - | fm Pilaji Rao

19. In which of the following princely states Shyamaji Krishna Varma had not served?
(A) Ratlam (B) Udaipur m Kutch (D) Junagadh

20. Arrange the following in chronological order:
1. Establishment of Gujarat Vidyapeeth
2.  Home Rule Movement
3. Shifting of Capital from Calcutta to Delhi
4. Swadeshi Movement
4.3, 2,1 (B) 2,1,4,3 {C) 3,2,1,4 (D) 1,4,2,3

21. Film Reva is adapted from a Gujarati novel titled ............ccoocceeeee.
(A) Othar (B) Tatvamasi (C) lai Somnath (D) Amruta
22. Where among the following was the First ‘Praja Mandal’ was set up?

(A) Baroda (B) Bhavnagar {C) Rajkot (D) Wadhwan

23. In 1858, Waghers attacked the Gaekwad army and British troops stationed in the Baroda state and
forced them to retreat. The rebels established their control over Dwaraka and Bet. Who was declared
the leader of the rebels and King of Dwaraka thereafter?

{A) Mukhi Garbaddas (B} Thakore liyabhai
{C) Govind Rao B lodha Manek
24. ‘Police Action” against ......ccccevivierenenns princely state was titled as Operation Polo.
{A) Junagadh (B) Travancore (C) Kashmir Hyderabad

25. Which of the following statement(s) is{are) correct with reference to Mahalwari Settlement?
1. It was a modified version of the Permanent Settlement.
2. The land revenue was fixed permanently in this system.
Only 1 (B) Only2 {C) Bothland?2 (D) Neither 1 nor 2
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Which of the following statements are correct with reference to the Theosophical Society?

1. It wasfounded in 1875 by Madam H. P. Blavatsky and a former English army officer,
Colonel H. S. Olcott.

2.  Its aim was to achieve a universal brotherhood of man.

3. It focussed at promoting the study of ancient religion and philosophy.

4. It emphasized on occultism.

(A) Only2 3and4 (B) Only1,3and4 (C) Only1,2and 4 @) 12 3and4

The Travancore Rebellion in 1809 was led by its Diwan .........c.coeeeoene.
Velu Thampi (B) Kerala Varma
{C) Marudu Pandyan (D} None of the above

The Treaty of Amritsar (1809) was an agreement between Ranjit Singh and .......................
{A) Wellesley Metcalfe {C) Bentinck (D) Mayo

(B} Parmahansa Mandali
{C}) Satya Mahima Dharma (D} None of the above

A non-Brahmin movement emerged in south India under the leadership of E.V. Ramaswamy Naicker
‘Periyar’ is known as ....ccceviveeinneenenn,

Self-Respect Movement (B) lustice Movement
(C) Dravidian Movement (D) Low-Caste Movement

Whose court physician was Charak?
{A) Harsh Vardhana Kanishka
(C) Ashoka (D) Chandra Gupta Maurya

The Mandsaur Inscription and Indore copper plate of Skanda Gupta suggest that ..................
{A) They were powerful guilds of various craftsmen.

{B} They were economically quite well-off.

{C) They migrated from place to place.

@) Al of the above.

Navanitakam of the Gupta period was a book on

{A) Astronomy (B) Mathematics Medicine (D) Astrology

....................... is the philosophy of Vallabhacharya.
(_A) Advaitavada (B) Vishishta Advaita
~ Shuddha Advaitavada {D) Duaita Advaitavada

........................... —an Indian revolutionary couldn’t be imprisoned in the Kakori Robbery Case.

@ Chandra Shekhar Azad {B) Roshan Singh

{C) Rajendra Lahiri (D) Ashfaqullah Khan

..................... - a Ghadarite leader referred to the Mexican revolutionaries as the Mexican Ghadarites.
{A) Ajit Singh (B) Barkatullah

e Lala Har Dayal {D) Sohan Singh Bhakna
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37. What is Kafaripayattu according to India’s culture and tradition?
{A) Itis an ancient Bhakti cult of Shaivism still prevalent in some parts of Southern India.
(B} Itis an ancient style bronze and brasswork still found in southern part of Coromandel area.
{C) Itis an ancient form of dance-drama and a living tradition in the northern part of Malabar.

It is an ancient martial art and a living tradition in some parts of Southern India.

38. Which of the following statement(s) is(are) correct regarding the All India Trade Union Congress (AITUC)?
1. It was founded during the Non-Cooperation Movement.
2. lala Lajpat Rai was its first elected president.

Indian National Congress opposed its formation.

Only 1and 2 (B} Only 2 only {C}) Onlyland3 (D) 1,2and3

39. Match the following by selecting the correct option regarding museums in Gujarat.

List 1 List 2

1. Calico Museum a. Gautam Sarabhai

2. lalbhai Dalpatbhai Museum b. Agamprabhakar Muni Shri Punyavijayji Mahara]
3. Kite Museum ¢. Bhanu Shah

4. Sardar Patel Museum d. Moti Shahi Mahal

1-a, 2-b, 3-c, 4-d (B) 1-a, 2-c, 3-b, 4-d
(C) 1, 2-b, 3-3, 4 (D} 1-d, 2-¢, 3-3, 4-b

40. Match the locations of the libraries older than 100 years in Gujarat by selecting the correct option.

List 1 List 2
1. Raichand Deepchand Library a. Bharuch
2. Desai Nanji & Sheth Zavershah Harjivan Library b. Porbandar
3. Stuart Public Library ¢. Godhra
4. lang Library d. Rajkot
@ 1-a, 2-b, 3¢, 4d (B) 1-a, 2-c, 3-b, 4-d
(C) 1-d, 2-b, 3-a, 4 (D) 1, 2-¢, 3-a,4-b
41. Hathee Singh Jain Temple isdedicatedto Tirthankara.
(ﬁ;{] Dharamanath (B) Neminath
(C) Mallinath (D) Adinath
42. Popularly sung at Navratri festival and weddings in Gujarat, Sanedo has originated from ...................
{A) Rajkot @ Patan {C) Dang (D) Limkheda
43 NN\ is not a folk dance form of Gujarati Garba.
{A) Pallilag (B) Kahalya Dumbhal (D) Hudo

44. Which of the following statement(s) is{are) correct with reference to Haltisaka dance?
1. The dance is very significant in the Harivansha Purana.
2. The dancers form a circle with their hands joined together to form a chain.
3.  Ayoung man who acts as Lord Krishna stands in the middle of the ‘Gopis.
{A) Only1l (B) Only2 {C) Onlyland?2

1,2and 3
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45.

46.

47.

48.

49.

50.

51..

52.

Which of the following statement(s) is{are) correct with reference to Chitra-Vichitra Mela in Gujarat?

1. ltis held at the village of Gubhakhari.
2. The name of the fair is derived from Chitravirya and Vichitraviraya, the sons of King Shantanu.
3. Fairis held a day before Holi.

{A) Only1 (B) Only2

Only 1and 2 (D) 1,2and3

Which of the following statement(s) is{are) correct with reference to Tangaliya work?

1. ltis a famous wood carving and traditional craft of Gujarat.

2. These are puppets vibrantly coloured and beautifully hand-painted.

3. ltis usually worn as a wraparound skirt by the women of the Bharwad shepherd community.

{A) Only1l {C) Onlyland?2 (D) 1,2and3
Jaykumari-Vijay, a play written by ......cocovieviie e is considered as the first modern love story of
Gujarati Literature.

Ranchhodbhai Udayaram Dave (B) C.C.Mehta
{C) Bapulal Naik {D) Pragji Dosa

Which of the following temple(s) is(are) located on Girnar Mountain?
1. The Jain temple of Neminath
2. The Jain temple of Mallinath
3. The temple of Samprati Raja

(A) Only1 (B) Only2 (C) Only2and3 ©) 1,2and3
Natak Bhajavata - A book on theatre criticism is written by ..o .

{A) Dalpatram (B} C.C. Mehta {C) K. M. Munshi (D) Janak Dave
.............................. has translated Uncle Vanya by Anton Chekhov into Gujarati as Vanya Mama.
(A} Hasmukh Baradi (B) Anila Dalal {C) Ranjana Harish (D) Rita Kothari
Match the following information by selecting the correct option regarding crafts of Gujarat.

List 1 List 2

1. Sadeli a. Bhujodi

2. Ajrakh block printing b. Dhamadka

3. Colourful shawls and blankets c. Poshina

4. Terracotta horses d. Surat

{A) 1-a, 2-b, 3-c, 4-d (B) 1-a, 2-c, 3-b, 4-d

K; 1-d, 2-b, 3-a, 4-c (D) 1-d, 2-c, 3-a, 4-b

Select the correct option from the choices given below regarding the examples of Torana architecture

in Gujarat.

1.  Sun Temple, Modhera

2. Rudramahalaya, Siddhpur

3. Ranchodji Temple, Valam

{A) Only1l (B) Only2 {C) Onlyland?2

1,2and 3
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53. Which of the following lyric(s) is(are) written by Jhaverchand Meghani?
1. Supdu Savalakhnu...
2. Aaso Maso Sharad Poonam ni Raat lo....
3.  Man Mor Bani Thangat Kare...

{A) Only1 (B) Onlyland?2 Only 2 and 3 (D) 1,2and3

54. The local artisans of
{A) Surendranagar

district has mastered the Kamangari Art (A form of fresco).
{C) Morbi (D) Panchmahal

55. Which of the following statement(s) is(are) correct and indicates the existence of Buddhism in Gujarat?
1.  [lllustrated miniature manuscripts in Vadodara Museum Collection
2. Sculptures in the step well of Adalaj
3. Asokan Rock edict in Junagadh
4. All of the above
{A) Onlyland4

Only 1 and 3 {C) Onlyland?2 (D) Only 3
56. Ra-Lakha folklore refers to the king of ...,

Kutch (B) South Gujarat {C}) North Gujarat (D) All of the above

57. Prag-Mahalin Kutch is built in ... architectural style.

(A) Indo-Islamic (B) Indian-ethnic @ [talian Gothic (D) Mughal Style
58. Hindola Raga miniature painting depicts which of the following God and Goddess?

{A) Shiva and Parvati % Krishna and Radha

{C) Indra and Indrani (D} Ganesha and Riddhi
59. Aditya Ram, state musician of princely state .....cccovevveiveeinnnnn, popularised the singing style of

Chaturang a variant of Drupad.

(A) Vadodara (B) Bhavnagar () Jamnagar (D) Balasinor
60. Who is the artist of Banyan the identity sculpture of Vadodara?

(A) Gulam Mohammad Sheikh (B} Nagji Patel

{C) Bhupen Khakkhar (D) K. G. Subramaniyam

61. Which of the following statement(s) is(are) correct?
1. Saptamatruka sculptures are popular in Gujarat.
2. Saptamatruka worshipping started in Gujarat during Kshatrap time.
3. Saptamatrukas are generally carved in single panels.
4. Saptamatruka shrines are located at Pacchtar, Adodar and Balej in Gujarat.
{A) Only1 (B) Onlyland?2 {C) Only1,2and3

1,2,3and 4

62. .. S ) W W is a famous Jain monk for miniature painiting of 14th century.

A) Kalakacharya (B} Vikramacharya
{C) Virbhadracharya (D} None of the above
63. Choose the correct combination of information from the following pairs.
{A) Rathwa — Maharashtra {B) Warli — Chhota Udaipur
(C) Garasiya — Madhya Pradesh n None of the above
64. Which of the following deity is depicted in Yogasana posture on Indus Seal?
{A) Tirthankara (B) Buddha
e Pashupathi (D} None of the above

CSP — 1 - MASTER] 15 [PT.O.



65. MecueS e oA 2wl Qeualluiell s2(al) Quisi(all) WIRL 87
1. Qead HEel yd won Yol calaaul «.Q 8.
. Roae stus w2 adl Rasa .
3. Qo swilell Wdotell Yol agla .
¥. [Qoa el@iel didol uRen scu B,
(A)  $5c 4 ol 2 (B) &5d 2 (C) %513 Ual ¥ e $5cl ¥

66. ollAo] Usl 53] o012, alds wal AUR WZ atlel B?
(A) 2Bl Yuat ciglla uyell (B) 21l ¢tesla (Qewol
€)) ~al ot kel HERlell reucel dellal (D) ol Yrletdl

67. QL“&%&Ldvﬂ. (B91e101& QU oo U2 Yudld 8.
(A RAscl (B) ojcd (c) Rleu (D) U

68. Uiscllell — o{lAotl ULl sl AU URURLIA ofcRd|olles| 2010 501 B?

0 pdlaae (B) [@sl2 (C) RS (D) Aciauel
69. €lel Rl cua (Rudde|otAEA) o ui aaddl ®.

(A) @ldsoR (B) Y2 (C) ol | WHELALE
70.  ollRAA A HENN Bele oo, ASly o B

G Hslar (B) leL (C) lrul (D) Ucl (Chain)
71. O%EdeL YeUH HEARAAS oo 8.

@A) el 2l (B) [QoAllEsll olletss () GUL Hadl (D) dlenad ye2ll
72. aﬁetdcﬂ 12 5 | - —— reuct Aelloll Uz B.

(A) UG (B) W3-9%R (C) ~elaR (D) o(20-o0@s
73.  %lssi #lsl.

SR Alel 2

a. 252t 1. R o

b. AdeAt el 2. cflala 2uou

c. UUAHR 3. alsla auo

d. ol@LE™ ¥. HelYRelRU 2oL

(A)  a-2, b-q, c-¥, d-3 (B) a-2, b-3, c-4, d-¥

€) a-¥. b3, c2, d1 (D) a-%,b-2,¢c3, d¥
74. vl 3%l slies e 0l 2 RS e ol AR 8.

(A) Wotloll U GARAD2L (B) ®©Asal

() wad a QEN[REE
75. oAl 2010 o] olld “Usteliol Welot UG B 5 Wojaiclladl Yl 2 5 59l el xa B..

oll AASIR e

(A)  2Us[A Yol eislels @) v Bad

(C) Ussid e (C) Hoell yilQewauc

CSP — 1 - MASTER] 16 [Contd.



65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

Which of the following statement(s) is(are) incorrect about Pichvai?

1. Pichvaiis the temple wall hanging used as a backdrop of the God’s idol.
2. Pichvaiis cloth painting.

3. Pichvai depicts scenes of Krishna’s life.

4. Pichvaiis the popular art form of southern India.

{A) Onlyland2 (B) Only2 {C) Only3and4

Which among the following is the correct description of Nagara, Dravida and Vesara?
{A) The three main racial groups

{B) Three linguistic divisions

@ Three main styles of Indian temple architecture

{D) Musical gharanas

Kishangarh School of Rajasthan is famous for ...
S Painting (B) Dance {C) Sculpture (D) Architecture

Pandavani is a traditional dance| drama|theatre of which one of the following states?
Chhattisgarh (B) Bihar {C}) Jharkhand (D) Telangana

Dada Hari.ni Wav (Stepwell | Baoli} is located at ....ccveevevvccnnnns

{A) Bhavnagar (B) Surat {C) Junagadh @ Ahmedabad
The walls of Nagara style temples are known as ........cc............

@ Mandovar (B) Stambh

(C) Toran (D} Shrunkhala {Chain)

The first female graduate of Gujarat is ......cccocceevvvececiiceinens

@ Shardagauri Mehta (B) Vinodini Nilkanth (C) Usha Mehata (D) Lilawati Munshi
The mansions (Havelis) of Gujarat are influenced by ..., style of Architecture.

{A) Chaulakya (B) Maru-Gurjar (C} Nagar Neo-Gothic

Match the following:

List | List |l

a. Sankardev 1. Rasik School

b. Chaitanyadev 2. Veershaiva School

¢. Basveshwar 3. Gaudiya School

d. Nabhadas 4. Mahapurushiya Schoaol

{A) a-2,b-1,c4,d-3 (B) a-2,b-3,c-1,d-4 a-4,b-3, ¢-2, d-1 (D) a-1,b-2,c-3,d4

Famous Gujarati play Santu Rangili is inspired from an English play ......ccccoevveeieiivienens

{A) Antony and Cleopatra (B) Electra

{C}) The Chairs n Pygmalion

The lyricist of a song ‘Dhanvan Jeevan Mane chhe Koi Anubhavine Poochhi Jo Ke Kon Jeevi Jane Chhe...
of Gujarati Theatre is ... ccernenen

{A) Raskavi Raghunath Brahmbhatt ' Prabhulal Dwivedi

{(C) Chandrakant Shah {D) Manasvi Prantijwala
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Choose the correct option by matching the following texts with their authors:

Works Authors

a. Kahe koyal shor machaye 1. Saumya Joshi

b. Aurangzeb 2. Harish Nagrecha

¢. Ek lalni rani 3. Chinu Modi

d. Aathama taranu Aakash 4. Labhshankar Thaker

{A) a-3,b-4,c1,d-2 (B) a-1,b-2,c¢3,d4
a-4, b-3, ¢-2,d-1 (D) a-2,b-1,c4, d3

...................... is situated at a confluence of rivers - Kapila, Saraswati and Hiranya.

{A) Chanod (B) Dwarka Bhalka (D) Modhera

Doobla people celebrate their festival ......ccocovevevenee. by making big doll {Dhinglo).

{A) Akhatree] (B) Shravani Poonam Divaso (D) Holi
.................................... was Indian revolutionary who participated in the Indian independence movement

until she was shot dead by the British Indian palice in front of police station on 29th September 1942.
She was affectionately known as ‘Gandhi buri’

(A) Aruna Asaf Ali @) Matangini Hazra

{C) Mallu Swarajyam {D) Durgabai Deshmukh

Renowned film musician Jaikishan was bornin .......cccccoooeveveeceenene. of Gujarat.

(A) Dabhoi (B) Palitana @ Vansda (D) Vadnagar

Which of the following father-son duo was conferred with National Sahitya Academy year’s best book
award for their distinctive contributions in the literary field?

{A) Harivallabh Bhayani-Utpal Bhayani

{B) Zhaverchand Meghani-Mahendra Meghani
{C) Ramanlal Joshi-Prabodh Joshi

5} Mahadev Desai-Narayan Desai

What is Hridaya Kunj?
(A) A place at Bardoli (B) A place at Gandhi Ashram
{C) A place at Vadodara {D) A place at Laxmivilas Palace

Kutchhi language is a mix of which two languages?
{A) Kakri and Sindhi

Sindhi and Gujarati

{C) Parsi and Kakri {D) Kakri and Kathiyawadi

The first theatre group of Gujarati, Parsee Natak Mandali was founded by ......cococecvvievcvceen,
Framjee Gustadjee Dalal (B) Vaghji Oza

{C) Ranchhodlal Dave (D) K. M. Munshi

Shaheed Bhagat Singh was a part of which of the following organization(s)?

{A) Naujavan Bharat Sabha (B} Hindustan Socialist Republic Association
{C) Kirti Kisan Party ) All of the above

Saptayatan style temple is located at .....cccoovveecveeecnnne in Gujarat.

m Dhrasanvel (B) Chakrabhrut

(C) Kalvad (D} Sarama
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Who among the following was awarded Sangeet Natak Akademy Award (New Delhi) for stage direction?

{A) Mohan Lalaji (B} Mulchand Nayak {C} Nayak Keshavlal Kasambhai Mir
Swami Haridas is famous for his devotional compositions in _ _ style.

{A) Thumari (B) Charchari Dhrupad (D) Tappa

Rural Olympics was organized at ......ccocceeeevveeeeennne. i

(A) Kerala (B) Lucknow {C) laisalmer 5} Kila Raypur
Sarth Gujarati Jodanikosh is published by ... e,

{A) Guijarati Sahitya Parishad {B) Gujarat University

e Gujarat Vidyapith {D) Narmad Sahityasabha

Which of the following statement(s) is(are) correct?

1. According to the Representation of People Act (1950), the relevant date for determining the age
qualification of 18 years to enroll as first time voters is described as follows: “Qualifying Date means
the first day of January of the year in which the electoral roll is prepared or revised.”

The electoral rolls are prepared Lok Sabha constituency wise.

A person disqualified due to ‘Corrupt Practices’ or offences relating to elections is not entitled to be
registered in the electoral rolls.

4. A young citizen of India completing 18 years on 9th November 2018 will be able to vote for the
assembly elections to be held in December 2018.

(A) Only1 (B) Only2and3 € only 1and3 (D) 1,2,3and4

Which of the following statement(s) is(are) correct?

1. Sarkaria Commission recommended the establishment of Inter-State Council.

2. Inter-State Council was notified and established by the Presidential order.

3. Inter-State Council was the recommendation of the States Committee of Constituent Assembly.
{A) Only1 (B?,} Only 1 and 2 {C) Only2and3 (D) 1,2and3

Which statement of the following statements is incorrect?

{A) The maximum strength of the House envisaged by the Constitution is 552.

{B) Out of 552, 530 members represent the States and 20 members represent the Union Territories
through elections.

{C) The Chairman of All Parliamentary committees are nominated by the Speaker.

(D} None of the above

Which of the following statement(s) is{are) correct?

1. The judgment in First Judges Case declared that the Primacy of The ClI's recommendations to the
President can be refused for cogent reasons.

2. The judgment in Second Judges Case declared that “justiciability” and “primacy” required that the
ClI be given the “primal” role in such appointments.

3. The judgment in Three Judges Case ruled out the concept of “primacy” of the highest judiciary over
the executive.

{A) Only2

Only 1and 2 {C) Only2and3 (D) Onlyland3
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Which of the following statements are correct?

1. Government of India Act (1919) provided for the establishment of a Public Service Commission
in India.

2. The Public Service Commission was set up in India for the first time In 1926.

3. With the existence of Indian Constitution in 1950 the Federal Public Service Commission came to be
known as the Union Public Service Commission.

4. Chairman and Members of the Federal Public Service Commission became Chairman and Members
of the Union Public Service Commission by Article 378 of Indian Constitution.

1,2,3and 4 (B) Onlyland?2 {C) Only1,2and3 (D) Only2,3and4

Which of the following statements are correct?
1. Chief Election Commissioner and Election Commissioners have a tenure of 06 years, or up to the
age of 65 years, whichever is earlier.

2. The Comptroller and Auditor General (CAG) of India holds office for a term of 06 years or until
attains age of 65 years whichever is earlier.

3. The retirement age for the Chief Vigilance Commissioner (CVC) is 65 years and comes with a four-
year fixed term.

4. A person who holds office as a member of a Public Service Commission shall, on the expiration of
his term of office, be ineligible for reappointment to that office.

{A) Onlyland3 (B) Onlyl,2and4 {C) Only2,3and4 (—E?f“ 1,2,3and 4

Which of the following statements are incorrect regarding SAARC Charter?
1. Its objective is to promote the welfare of the people of ASIA and to improve their quality of life.

2. The Heads of State or Government shall meet once a year or more often as and when considered
necessary by the Member States.

3. Former Prime Minister Indira Gandhi signed the SAARC Charter on behalf of Republic of India.
4. Total 10 Articles are there in SAARC Charter.
@) only 1and 3 (B) Only2and 3 (C) Only1and4 (D) Only 1,2 and 4

Which of the following statement(s) is{are) correct?

1.  Erstwhile Ministry of Small Scale Industries and the Ministry of Agro and Rural Industries were
merged to form the Ministry of Micro, Small and Medium Enterprises.

2. In Service Sector, Micro Enterprise Category investment should not exceed INR 25 lakhs in
Equipments.

3. In Manufacturing Sector, Medium Enterprise Category investment should be more than
INR 5 crores but should not exceed INR 10 crores in plant and machinery.

{A) Onlyland2 (B) Only2and3 Only 1and 3 (D) Only3

A Prepared Community is A Safe Community is the slogan of ..o
{A) Community Policing Unit of Gujarat National Disaster Management Authority
{C) Ministry of Health and Family Welfare {D) Swachh Bharat Abhiyan

Sikshit Bharat - Swasth Bharat - Swachh Bharat - Swavalambi Bharat - Sampann Bharat is the Tagline of

Unnat Bharat Abhiyaan

{B) Skill India Programme

{C) Ayushman Bharat

{D) Atal Mission For Rejuvenation And Urban Transformation
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Which of the following statements are correct with reference to the Vice-President of India?

1. When Vice-President of India acts as President of India, he doesn’t perform the duties of the
Chairperson of the Council of States.

2. Vice-President receives salary and other allowances as Ex-officio Chairman of the Rajya Sabha not
as Vice-President of India.

3.  Whenever Vice-President acts as President of India, he will not enjoy the powers, immunities and
privileges of President of India.

4. The Constitution is silent on who performs the duties of Vice-President, when a vacancy occurs in
the office of Vice-President.

{A) Onlyland3 (B) Only2and4 @ Only 1,2 and 4 (D) 1,2,3and 4

Which of the following statements are correct about Anti Defection Law?

1.  Anominated member of a House will be disqualified if he joins any political party within six months
of his/her nomination.

2. Ifanindependent legislator joins a political party he would lose membership.

3. An independent can choose to support any political party but should not attach himself to any
political party.

4. If a sole member of a political party in an Assembly joins another political party, he will be
disqualified.

(A) 1,2,3and4 El) Only2,3and4 {C) Only3and4 (D) Only1land 4

There are three categories of Advocates who are entitled to practice law before the Supreme Court of

India. Which of the following category is not in the list?

Constitutional Advocates (B) Senior Advocates
(C) Advocates on record (D} Other Advocates
Which of the following statements are correct with reference to writs issued by the Supreme Court and

High Courts in India?

1. The writ of Habeas Corpus can be issued against public authorities only.

2. The writ of Mandamus cannot be issued against a private individual or body.

3. The writ of prohibition can be issued only against judicial and quasi-judicial authorities.

4. The writ of Certiorari is available against legislative bodies and private individuals.

{A) Onlyland?2 (B) Onlyland4 f@ Only 2 and 3 (D) Only3and4
Which of the following statement(s) is{are) incorrect with reference to the fundamental rights as
enshrined in the Indian Constitution?

1. All fundamental rights are available against the arbitrary action of the State only.

2. Some of them are legally enforceable while others are not.

3. Parliament can curtail or repeal them, but only through a constitutional amendment.

{A) Only1 (B) Only2 Only 1and 2 (D) 1,2and3

Which of the following statement(s) is(are) correct in the case when the Prime Minister of India belongs
to the Upper House of Parliament?

1. He will not be able to vote in his favour in the event of a no-confidence motion.

2. He will not be able to speak on the budget in the Lower House.
3. He can make statements only in the Upper House.
4

He has to become a member of the Lower House within six months after being sworn-in as the
Prime Minister.

Only 1 (B) Onlyland?2 {C) Only1,2and3 (D) 1,2,3and 4
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Which of the following statement(s) is{are) correct with reference to the Chairman of the Rajya Sabha?

1. He cannot preside over a joint sitting of the two Houses of Parliament.

2. Heis a member of the House but cannot vote in the first instance.

3. When a resolution for his removal is under consideration, he can speak and take part in the
proceedings but without right to vote.

{A) Only1land? (B) Only2and3 {C} Only3 ! Only 1and 3

Which of the following statements regarding sessions of Parliament is incorrect?
Adjourned sine die is done by the President, while Adjournment is done by the Speaker.
{B) Prorogation ends a session of the House, while Adjournment only ends a sitting.

(C) Dissolution of the Lok Sabha happens either automatically or by the President.
{D) Dissolution of the Rajya Sabha can’t take place because it is a permanent body.

Which of the following statements are correct with reference to constitutional amendments?

1. Private members can’t introduce Constitutional Amendment Bill in Parliament.

2. President can’t refer back Constitutional Amendment Bill passed by Parliament for reconsideration.
3. Constitutional Amendment Bill requires special majority for its approval.

4. There can’t be a Joint Session of Parliament for passing a Constitutional Amendment Bill.

{A) Onlyland?2 Only 2,3 and4 {C}) Only2and3 (D) Only1,2and3

Which of the following statement is incorrect with reference to Indian Parliament?

{A) The Appropriation Bill must be passed by both the Houses of Parliament before it can be enacted
into law.

{B) No money shall be withdrawn from the Consolidated Fund of India except under the appropriation

made by the Appropriation Act.

Finance Bill is required for proposing new taxes but no another Bill/Act is required for making

changes in the rates of taxes which are already under operation.

(D) None of the above

Which of the following statement(s} is{are) correct?

1. The total strength of a Legislative Council shall not exceed 40 members subject to minimum of one-
third strength of Legislative Assembly.

2. The Legislative Council can have maximum of one-sixth nominated members. These members are
nominated by Governor on the recommendation of President.

{A) Only1 (B) Only2 (C) Bothland?2 | Neither 1 nor 2

In which of the following circumstances, courts are debarred to interfere in electoral matters?
1. Delimitation of constituencies

2. Allotment of seats to the constituencies
{A) Only1 (B) Only2

Both 1 and 2 (D) Neither 1 nor 2

Which of the following are not necessarily the consequences of the proclamation of President’s rule in
a State?

1. Dissolution of the State Legislative Assembly

2.  Removal of the Council of Ministers in the State

3. Dissolution of the local bodies

{A) Onlyland2 @ Only1and 3 {C) Only2and3 (D) 1,2and3
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(A) 9o @Q‘ udsi, wd2 sRae wA Yotlol

©) el uat yura (D) SlAEL

ollAs] Usl s3] (Aol eURetoll AUl | A%pWA Ued calsald siofell steladlsl uldzeu

ollota W3 otell?

(A)  RA%Asl ASIA Sl §% vlastelell HIZ cAUARL % US| 2B o8l

(B) RA%2Usll aASL doll $3% UlEol M2 SIE ULl cALRUEHLA wallol Ul olundell el

(©) aw{tt@ ast Wl Grz Anadl {2 e U @l il sral 1w uldeit yseuul
uUll B,

(B) Gl ylRel B uaAdaMl %ol aslell stlaléla ussiral W2 diBld 52 8.

WLl el Assu aolell 616 Sletl w2 aeletl WALt e 6 o1 Aot UL sl ([Qetell vl B2
1 gyl ool arcloll dvaut Y@l AxaMl A 5lo] wIREGL

2. oyl wotsld M2 Assle] &l AMell ardl dva WA Usndd .

3. uwsld aolell Aasle] wirarl duell ardl dvel WA vsnAg slau A 33l ol

(A) 9, R Ul 3 (B) $5c 1 ol R §5c1 A Wl 3 (D)  $5cl 2 ual 3

............. ol oltotalul etRdla du dlsAal w=loL (. ULall)ell U Qeunl qadl ol
(A)  <aRs Acual W2 el uralda

(B) Uol€l HclHl Gl U512 d601 AclAl oosteldl U5l uUuR 523l RlacdfQuas ool
(C)  UotEl Al %2 U512 2601 Al oostalcll U wuR 52l Blad@neals eioldl

D)) o€ 33Uoll BlotauegFulloll R 2l wstcll Sl
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Which of the following statements are correct with reference to the status of ‘official language’ in India?
1. Hindi written in Devanagari script is the official language of the Union.
2. The Constitution specifies the official languages of different states.

3. All proceedings in the Supreme Court and in every High Court shall be conducted in English only,
until Parliament provides otherwise.

{A) Onlyland2 | Onlyland3 {C) Only2and3 (D) 1,2and3

Though the Council of Ministers is collectively responsible to the Lok Sabha, the individual Ministers are
constitutionally responsible to :

{A) The Prime Minister The President
{C) The Speaker (D} None of the above
What is the difference between ‘Vote-on-Account’ and ‘Interim Budget’?

1. The provision of a vote-on-account is used by a regular Government, while an interim budget is a
provision used by a care-taker Government.

2. A vote-on-account only deals with the expenditure in Government’s budget, while an interim
budget includes both expenditure and receipts.

{A) Only1 ) Only?2 {C) Bothland?2 (D) Neither 1 nor 2
Which of the following statements are true about GST Council?
1. The quorum for its meeting is 50% of the total members.

2. Central Government shall have weightage of 2/3rd of the votes and State Governments shall have
1/3rd weightage of the votes.

3. Council’s decisions are taken by the majority of not less than 3/4th of the weightage votes of the
members present and voting.

4.  Only the finance minister of the States can represent the State in the GST meetings.

{A) Onlyland2 (B) Only2and3 GQ Only 1,2 and 3 (D) 1,2,3and 4

Central Information Commission falls under....................... Ministry of Government of India.

(A) Home Affairs { Personnel, Public Grievances and Pensions

{C) Information and Broadcasting (D) Law

Which of the following statement is not correct regarding personal immunity from legal action to the
President | Governors?

{A) The court can’t compel the head of the state to perform any duty.

{B} The head of the state is not answerable to any court for the exercise of his duty.

(C) The court is barred from issuing a notice to make the head of the state answerable.

(D) Personal immunity bars a person to challenge the action of the head of the state in the court of law.

Which of the following statements are correct with reference to the reservation of seats for representation
of certain sections of population in Panchayati Raj Institutions?

1. Reservation of seats for Scheduled Castes as per the proportion of their population size in the State.
2. Reservation of seats for Scheduled Tribes is linked with their population size.

3.  Reservation of seats for Backward Classes is not necessarily linked with their population size.

{A) 1,2 and 3 (B) Onlyland?2 Only 1 and 3 (D) Only2and 3
Union Public Service Commission is not consulted in the matters related to the ......................

{A) Methods of recruitment to civil services.

(B} Disciplinary matters affecting a person serving under government of India in civil capacity.

{C) Disciplinary matters affecting a person serving under government of a state in a civil capacity.

D) The manner in which effect may be given to the provisions of Article 335.
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122, URAM gl Uotlot Aol (Aot LAY Ued oAl US| 53] [Qtilot WE otell?
(A) A AR Votlel Al Alxolloll Jrolecll Al B.
(B) MM alLIRAA s dlAd Guetotl sAclatHl 2dl 8.
(C) Ao RaMet Ustlot REL [AR2HS wa [@Ast wAs0L gl a B.
D)) Wo2lol AR QAAAHS A [Astd WAseL MEAAAH .40 2003 1 UsAUH] Ll
123, APl YU ellnHg3l (Prohibition and Regulation) YLl UM A2UN (1e¢s) ded ol Aetl UL
saul [Auell Wi 82
1. 1% adel ellell ool WA 13l spAdal uR yldoiu.
2. o Al 1¥ell 15 ol dzel WA 13l sAAaA U yldoiu.
3. drid Bl @Al el 1¢ adell dzel WA 13l sAcal uR yldoiu
¥,  (Olotsluall x0ul Qrilell Asaudle] aingl s34,
(A) %5 9, 2 Wl 3 5l 4, 3 WAl ¥ (C) %51 2, 3 Wal ¥ (D) U, 2,3 Ul ¥
124. oflA AUAA ([AuulelHiell sl Qeuel wrl 8?
1. AlsUGL Aol Al UeAoll el 12 yHer uARRce( uwlda uUqu? 8.
2. RA%AUeUsL ueAloll Yzell A% (Auctuoiol 2zl deAl glRl Rl B.
3. AlsULe] METH RAvAGI UYR PELA seuul 2] 8.
¥, sl oitnRela YRl UBRAAH (1ece) sl Hdelotoll aa 2 arell watdla a¢ ad
sciHl vl B, A\
(A)  $5cl 4 Ul 3 (B) $5cl 2 Aol 3 (C) %5l %, 3 Wol ¥ (BN $5c1 2,3 Aol ¥
125. ol W [Quueiiell sal Qe wai 82
1. ArAWEA, AU [Qulotdel al2l UMz sl wdal Alssd uslel Qs weuldsl
Qa2 wettita Al 9 B,
2. Ul xR wsial ousla s2lsdl €(aet st Ul Aol ol WhRAum (el
U2 dseall [Ea 2l 2 B,
3. %AW, dRcell g UlAoll BH % ot 2w sluel WSl dlel ueia 8.
(A) 85 (B) g5l U3 (C) g5l auA3 (B 1, R U3
126. <UL sla Qs ded (A we Quellniell sai Qe Wi 82
1. ol oleU-[QAASL (money bills) oSl ([QAASL (financial bills) & U olul olBusla
(@RS (financial bills), «UBL-(QARRS| (money bills) &l olell.
2. Yedls usRell oleusla Qs sael gl secll waal wrelsidl s .
3. 2cls usiRell aurusla (AR5 clsuel Ml A%AUGL, 5l UBL 9leHl 2% s31 asta B.
¥, dH YsiRell sueusla QA8 g5 dlsueudl o 9 s3I AslA B,
(A) $5d 1 U 3 (B) g5 uad ¥ (C) 85U 2uA ¥ (B)) §5cl U, R el 3
127. elRdell itlRulell Yoea 2 uctiul o(l8al Ul s2j(l) daru(el) e seuul e B2
1. cURs wllan
2. Ul UELE glrl wUlel sl HIZ wWd 29
3. "Rl s
¥, Ysd el Ul 2zl
(A)  $5 1 (B) 853wl ¥y  (C) §5 Lol ¥ (D)) $5c 9, 3 ol ¥
128. ollAcll ULl sl [Qaulell eftuRBlell Y31l YRl URRAU (1¢9¢)oll Blotaugul B?
1 RS wlal WA Reotl ded udRU Ueldd ol GRU WElHAA WASREAAA
Yot Qe s,
. dla 5215 8lell Med UidRS QAW el ‘UAB HOA 2o YRAL.
3. Ytlletdstell AMld atcHeell & 0euld s2lsél ende 531 ad 8.
¥,  Hogd wURsER61 YRHE duRel wEsR 51El slull & ual Aal HA Slojell w52
olollelellHl el 8.
(A) $5c 2 ol 3 (B) %5l 4 Ual 2 $5c1 2,3 Vol ¥ (D) $5c 4, 2 ol 3
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Which of the following sentence is not correct with reference to the National Pension System in India?
{A) It replaced the defined benefit pension system.

(B} It has been offered to all the citizens on voluntary basis.

{C) Itis regulated by the Pension Fund Regulatory and Development Authority.

The Pension Fund Regulatory and Development Authority Act was enacted in the year 2003,

Which of the following statements are correct with reference to the Child Labour (Prohibition and
Regulation) Amendment Act (1986) amended recently?

1. To ban child labour below 14 years.

2. To prohibit employment of adolescent labour aged 14-16 years in all sectors.

3. To prohibit employment of adolescent labour aged 14-18 years in hazardous sector.

4. Toregulate their employment in non-hazardous sections.

{A) Onlyl,2and3 Only1,3and4 {C) Only2,3and4 (D) 1,2,3and 4

Which of the following statements are correct?
1. Lok Sabha and Rajya Sabha both follow the method of proportional representation for electing
members,

2. Members of Rajya Sabha are elected by the elected members of the State Legislative Assemblies.
3.  Maximum strength of Lok Sabha is fixed at 552.

4. The voting age was reduced from 21 to 18 by the 61st Constitutional Amendment Act, (1988)

{A) Onlyland3 (B) Only2and3 {C) Only1,3and4 (E}f Only 2,3and 4

Which of the following statements are correct?

1. The Governor canreserve certain types of bills passed by the State Legislature for the consideration
of the President.

2. During Financial Emergency the President may direct the State Government to send money bills
and related bills for his consideration.

3. The Governor also enjoys ‘Absolute and Suspensive” veto like President of India.
{A) Only1 (B) Only2and3 {C) Onlyland3

1,2and 3

Which of the following statements are correct with reference to the Financial Biil?

1.  All money bills are financial bills but not all financial bills are money bills.

2. Some types of financial bills can be changed or rejected by the Rajya Sabha.

3.  Some types of financial bills can be introduced in either of the Houses, Lok Sabha or Rajya Sabha.
4. All types of financial bills can only be introduced in the Lok Sabha.

{A) Onlyland3 (B) Only2and4 {C) Onlyl,2and4 Only 1,2and 3
Which of the following feature(s) is(are) included in the fundamental structure of the indian Constitution?
1. Judicial Review 2. Special leave to appeal by the Supreme Court
3. Federal Character 4. Free and Fair elections

{A) Only1 (B) Only3and4 {C) Onlyland4 Only1l,3and 4
Which of the following statements are the provisions of the 44th Constitutional Amendment Act (1978)?

1. Restored the jurisdiction of the Supreme Court and High Courts in respect of Judicial Review and
issues of writs.

2. Replaced the term ‘internal disturbance’ by ‘armed rebellion” with respect of national emergency.
3. The President can declare national emergency only on written recommendation of the Cabinet.
4. Deleted the right to property from the list of Fundamental Rights and made it only a legal right.
{A) Only2and3 (B) Onlyland?2 Only 2,3 and 4 (D) Only1l,2and3
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129. Had Y&l ol a8 8l Al Qauddol Questell 2uaul 1Al ol Y ............... UHA HE2
Al 2849,
(A)  Aoll yau Assell atdluiell ol u ad ytll wa aell ay «&l
B)) ¥l Qudld daiade] Queet 63 ol S 1 Al 8L Sl Al Asll sltsl 2cll
(C) wrawctell 1w Hlat i Yl
(D) R Qe Aol UG ¥l & @l Yl
130. ollAal WSl 53] Ylolz utietri=ll sl (UL An3) ssm stald otell?
(A) UM Gt (Qeuat (B) dlRe&l [Qeuat
(©) Afla yrew uRue (D) 0glal Aol A Aol ol
131 otelfllcd 2endlat WAl |RAUEL &6 (NSSH) wveeveeeeene. 2601 5HO(1E] 52 B,
(A) UL AS ollelcllo] HAAA
(B) 5latcat [Asla wal GaMcl Halle
@) e, dy wal urad Gax Houea (MSME)
(D) wotmcllat sllotdle] Houc
132, oflA WA [@Quieluiel s2jail) Quiot(al) W (L) oell?
4. SL ofl. w1z, wiass? sUsEol Aol AL &l
2. walleCLE A3 Al oluuRl Al wra18icdl 5341 ol
3. URELR WA uidla oluirel 4AQl wraeial 591 odl.
¥, UELR ud %Ae(l uMURQA6A vL2eetcl sél el (319l WA alztane H2el uAQ)
(A)  85cL 1 el R (B) §5c13 : (D)  $5d R
133. AR WELE Aol WASRAA ded oA wﬂc{t Quctiuiell sal Qe Wi B2
q.  ellrdoll Ul 932 (Booll Sl uwl eliotd 643 @y Anael el dell walrl Weldd
WA Heted Bl 25 8.
2. udlu UElHA glel dclestdl w8 s UMl WAl AH@uR U5
oltletsdl otell.
3. m{oj@a 32 3601 Ul AUeldd, olloR5loll Held HESRL WHAHT Ysal Bl U SIE
3] M2 AMEA (e’la) ) 531 4% B,
(A)  §5cL 4 el 3 B) 5511, 2 ual3 (C) S5l U3 (D) §5cl R
134. wic2dlal Aot wHet Uiz atlclal HUE YHIL Rl Wl doll BLeS ULl al H2 5168 uel
LT\ 5 A 9. W N A ol otottell 25 B.
(A) i AL A (B) ocigHcl Aol 1l
(C) Aol Al AnQ (D)) Gullsct Usl 518 ol
135. dUEHL AUQauell eure ool o[ Aot [QeualHiall saui Qe Wi 872
Q. el £ued 2430 eiaeHl 518 GeAu ol
2. ol A[Asuuell eulrel A B HI™ol U UAR AUACL Sldl Sl
3. Aol 2l Ws W UeRQA wWAQAe{l £2uixctal 251 WAL Sl LS.
¥, wQaell eurd HIA AlsUUML % % UL AB.
(A) 9,2, 3%l¥ (B) S§5c2 Ul ¥ oS5 4, 2wl ¥ (D) S5 4 ¥ ¥
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A new Panchayat constituted upon the dissolution of a Panchayat before the expiration of its term
shall CoONtiNUE ...

{A) For next 5 years from the date of its first meeting and no longer.

For the remainder of the period for which the dissolved Panchayat would have continued had it
not been dissolved.

{C) Till it enjoys the pleasure of the Governor.

{D) Till State Legislative Assembly allows it to continue.

Which unit of the following units is not functioning under Prime Minister’s Office (PMQO)?
{A) Department of Atomic Energy (B} Department of Space
{C) National Security Council National Capital Region Planning Board.

Recently constituted National SC/ST Hub (NSSH) is functioning under the ...,
{A) Ministry of Social Justice
{B} Ministry of Skill Development and Entrepreneurship

€)' Ministry of Micro, Small and Medium Enterprises (MSME)
{D) Ministry of Tribal Affairs

Which of the following statement(s) is{are) incorrect?

1. Dr. B. R. Ambedkar was the chairman of Drafting Committee.

2. Jawabharlal Nehru chaired the Union Constitution Committee.

3. Sardar Patel chaired Provincial Constitution Committee.

4. Sardar Patel chaired States Committee. (committee for negotiating with States)

(A) Onlyland?2 (B) Only3 (€) only4 (D) Only 2

Which of the following statements with reference to the jurisdiction of the Supreme Court are correct?

1. The President can refer any matter of public interest to the Supreme Court of India to seek its
opinion.

2. The opinion given by the Supreme Court on a reference under advisory jurisdiction is not binding
on the Government.

3. The Supreme Court under Article 32 can issue Writs for the enforcement of the fundamental rights
of the citizens and for any other purpose.

(A) Only1and3 @ only1,2and3 (C) Only 2 and 3 (D) Only 2

The Indian Parliament can make any law for whole or any part of India for implementing international

treaties .o NN}

{A) With the Consent of all States {B) With the Consent of majority of States

(C) With the Consent of States concerned None of the above

Which of the following statements with reference to the no-confidence motion in Parliament are
correct?

1. There is no mention of a no-confidence motion in the Constitution.

2. A period of six months must elapse between the introduction of one no-confidence motion and
another.

3. At least one hundred members must support a motion of no-confidence motion.
4. A motion of no-confidence motion can be introduced in the Lok Sabha only.
(A) 1,2,3and4 (B) Only2and4 Only 1,2 and 4 (D) Only1land 4
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el cloll oluulRulell 21eell, £35 cu(5l MR cloll sllaR S totdl, B2 el Y Ml Wello] @A ey
I ETES UL 7T

(A)  BHoll Worl ARl UeAHL A B,
(B) BHoll Hicdl Ul Qctioll ¥oH Ml Y aHl v B.

(C) Ul HRcloll Gl WRMeAl dRet Yl wlled el WA il HIZ el YEaloll AHLA
8cudl &,

B)) Gulsct cunt

allrcllat olauRBloll o] We ¢ Uottd oA WA Quuoliell sl Quust(all) v (RN) 872
(A) 2L, Aol WUl [Qau delldd wHet Qo 5188 GuR yelel 529 8l
(B) lRdsll 818 «lolRs 85 (AR 9l ruell Guilall 2ellsi2 8l 52.

(C) Sl cals ¥ alrcoll aaRs otell, AU AUDet et Al 518 Qo] Ue uReL 52 B
=Y [AEall 2% WA 5 Gl puledl wsudl [@ot 2els128l w8l

a GUAsd ML

oAl wAetl Quistuiell sii) Quet(sll) WD) B2

€ UeWe 35Ul AUBA Uil YUIRL 53 oltlRel Ul UEIAA gl UM A
HYOYA HuUsl Rtdidal UBet B, B ualL weled dadele el [zt 3200 2%lell
ysel Al yQuild d st B,

GLURRML YR sal W2 A Uoll ydaingdl w3dl 8.
sluRella YA [QRasel YRe AlsueHl Adl sl
55l 1 (B) S5 1A (C) §5c3 (D) §5cl 4 Aol 3

el %l 518 ufls wyelaal Al dymldol €%l AU, dl doll 1[5 52 B?

1. Al Asled [Qlatel drslellell euustt wa adlae 54l o B.

2. puld dlsueuMl AIRAU U] dllHisat 53 B.

3. Rl yaletiizlloll 20050l 4 Yaloll sRlsual clel | 94 B.

(A) %5 4 (B) %5 2 (C) 5511 Ul 2 a $5cl 1 Wl 3

wicR-A%A URne ded olA wAAl AQuslluiell s2j(al) Qtlsi(eal) W (i) 82
1. doll 2auUetl 0z ulotl vz atell awal .

2. doll seaell stz duE gl cuvURld L B.

3. doll 2auustt A Aaw sral we addl 8.

3 $5cl U el 3 (B)  %5c 2 (C) %5 2 ol 3 (D) 2,2 a3

oflAe] Usl 52 slal 2 ol Aulel usael eiol dls aweuul wad «ell?
(A) 29182 yHRUAL A

(B) &2 uHurlo{l ol sty Guz ysdl

(C) AR B3 U2 ol Yadla usal

) Rrautet U] yeatisol

aua UL Qeslluiell s3jl) Quet(all) weRl) 8?

1. YUl 250lcA (AU (2000) gLl ARl BFeE WRlslal Hicdl seUM wicR B.

2. yalls yurlel @Qeucstt Audesl ulsauul yudl 2sddly URRaH e s
olo?] 9.

3. [Bzd et slsaudlell quizaudl Gur yslR 8.

(A)  §5cL R Ual 3 (B) §5cL? (C) g5t a3 (B R A3
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At the commencement of the Constitution of India, every person shall be a citizen of India who has his
domicile in the territory of India and .......cccccovvvveeneee.

{A) Who was born in the territory of India.

(B} Either of whose parents was born in the territory of India.

{C) Who has been ordinarily residing in the territory of India for not less than five years immediately
preceding such commencement.

All of the above.

Which of the following is correct under Article 18 of the Indian Constitution?

{A) No title, not being a military or academic distinction, shall be conferred by the State.

{B) No citizen of India shall accept any title from any foreign State.

{C} No person who is not a citizen of India shall, while he holds any office of profit or trust under the
State, accept without the consent of the President any title from any foreign State.

All of the above.

Which of the following statement(s) is{are) correct?

1. The Constitution amending power embodied in Article 368 is subject to the doctrine of ‘Basic
structure’ propounded by the Supreme Court in Kesavananda Bharati V. State of Kerala.

For Constitution amendment prior permission of the President of India is required.

The Constitution amendment Bill should initiate in Lok Sabha.

Only 1 (B) Onlyland?2 {C) Only3 (D) Onlyland3

In India, if a religious community is accorded status of national minarity, then which are the entitlements?
1. They can establish and administer exclusive educational institutions.
2. President automatically nominates a member in Lok Sabha.

3. They can derive benefit from PM’s 15-point Programme of 2006.

{A) Only1 (B) Only2 {C) Onlyland?2

Only 1and 3

Which of the following statement(s) is{are) correct with reference to the Inter-state council?

1. Iltis established by the order of the President.

2. lts nature of duties is defined by Parliament.

3.  lts establishment is meant to serve the public interests.

(A} Only 1and 3 (B) Only2 {C) Only2and3 (D) 1,2and3

Which of the following Act is not considered as a part of the Public Policy formulation process?
{A) Identification of public problems

{B) Putting of public problems on policy agenda

{C) Formulation of policy proposal to deal the problems

&) Evaluation of the policy

Which of the following statement(s) is(are) correct?
1. Digital governance has been legalized by the Information Technology Act (2000) in India.

2. Information Technology Act is a watershed in conceptualizing administrative reforms in India.
3. Digital Governance is an attack on bureaucratic red-tapism.

{A) Only2and3 (B) Only2 {C) Onlyland3

,2and 3
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143. ol Actuiell s2(au) Mistan@sRel caeL(el) &2
1. AU[QWadl (Inalienability)
2. [Qeuwsdl (Divisibility)
3. W olleLcll (Interdependence)
(A)  $5c R Wl 3 (B)) $5cl A ual3  (C) H5cL 2 (D) 4, R ¥l 3
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(A) (edl B) Axtaol (C) uan (D) uAGAs2WL
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2. olleu [ARas (Money Bill)
3. olueella Yl [aaas
(A) 8§59 ¥l 3 B)) s5ct 2 (C) 85t Rl 3 (D) 53
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(AL A dleoll 655 (AR 53 B, AuUellaictiell U@AS1A o u®s12 A3l acllsial B. Al
YsLEL ol Aotl Usl s2ul AAA AR 52972
1o g ULl sdH 309 . Sy
(A) 8§54 (B) sst? (C) oial 1 ual R (D) 1 wa 2 USl As ugl A8l
148. atqitaa Ulg sledall Ase (1cuc)ell Bt olloid olAell Usl 53 w3 &?
(AN oS 25 52lct Aol Bl2 L5 slrRs2Rel sllefel glrl Aasl URsR el vid .
ol 1B etellet (Aot WENMEAl 22l HZoll loteuss wel s2ctl el
() [Ascu A ual B olal.
(D) GURell gl 8l€ gl
149. Auills izl ded oA w el [Qustiniell 52 [Quist wg &2
(A) agt[as drelall Aal slofol glal asclHl wicll & ¥ % UUE Wal AU [Auiadueinl uuR
-os3l asa
(B) dullols ArauAl 6Ll slojot all usau] el B.
(©) a;lu[as %wwﬂ el Slojol g2l dsaldl ulell B 3 B AUE ol A% [AuletdelA AR
53 oll 2
(D) Gurell Usl 8 sl
150. @Rl oitlRBloll UABDE 399 ollold ol Aol USL sl [@Atioll Wrl B?
1. UeWE 39 ([Aeel, HRAGASL Ul ollSlell HelR HIZ AUl [@Asuolésll @uust sl
gl 52 B,
URDE 390 52U ol lLSloll At M2 WAL (A5 ollSell Ul HRoll Bl 52 8.
U]OE 399 UfUR ASIYHLol HERY el Y%A cloll A%AUEA GURASA B 1
v s ellAl Wil wEsd B,
AN §5cL 4 A R (B) U 23 (C) $5L Al 3 (D) $5L R AUA3
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(A) 138 (B) 139 | 140 (D) 141
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143,

144.

145.

146.

147.

148.

149.

150.

151.

Which of the following is(are) the attribute(s) of Human Rights?

1. Inalienability

2. Divisibility

3. Interdependence

{A) Only2and3 Only1and 3 {C) Only2 (D) 1,2and3

The allocation of seats in the council of states from the different states of the Union of India has been
provided in which of the following Schedule of the Constitution? -
{A) First Schedule (B) Second Schedule {C) Third Schedule (B)) Fourth Schedule

Which scheme was launched for the socio-economic empowerment of adolescent girls and young
women (AGYW)?

(A) Kishori Tejaswini (C) Saksham (D) Sashaktikaran

Joint sitting of both the Houses of Parliament is allowed during which of the following?

1. Ordinary Bill

2. Money Bill

3. Constitution Amendment Bill

(A) Onlyland3 B) Only1 (C) Only2and3 (D) Only3

The historic decision of the Supreme Court has accepted the right to Privacy, under the Article 21 of
Indian Constitution, which guarantees right to life and personal liberty, as a fundamental right. Which of
the following areas will get affected because of this decision?

1. IPCSection 377

2. Euthanasia _

{A) Only1l (Bf Only 2 {C) Bothland?2 (D) Neither 1 nor2
Which sentence of the following sentences is correct with reference to the provisions of the Government
of India Act (1858)?

A} It ended the system of double government by abolishing the Board of Control and Court of Director.
{B) It also catered to the establishment of new legislative councils for Bengal.

{C) BothAandB

(D) None of the above

Which sentence of the following sentences is correct about the statutory bodies?

@A} Statutory bodies are set up by statutes which Parliament and State Legislatures can pass.
{B) Statutory bodies are set up by statutes of the Constitution.

{C) Statutory bodies are set up by statutes which Parliament and State Legislatures can’t pass.
(D) None of the above.

Which of the following statements are correct with reference to the Article 371 of indian Constitution?

1. Article 371 provides the establishment of separate Development Boards for Vidharbha, Marthwada
and rest of Maharashtra.

2. Article 371 provides the establishment of separate Development Boards for Kutch and rest of
Gujarat.

3. According to Article 371 Prime Minister is authorized to assign Governors of Maharashtra and

Gujarat would have special responsibilities for the above provisions.

Only 1and 2 (B) 1,2and3 {C) Onlyland3 (D) Only2and 3

If all the numbers from 601 to 800 are written, what is the total number of times the digit 7 appears?
(A) 138 (B) 139 @ 140 (D) 141
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152. AUy AslRlell WEddun U vd:adnet aAsnel 2JeltRk decll ad?

(A) 21 (B) 1:3 e I D) Gurel Ul 8l ol
153. o Yo wdlseel: x + y = 3and -15 = 3y = 3x ol
(A)  Uoled B35 & (B) wsuwl G5 oell (C) o G3e B (D) Vol B3¢ B

154. ofl Aoll wusldnul ~ p 135° ua /g 143" B. %l AB Wl CD UHIcl? &l o, .~ x 52cll 2dl?

(A) 45° (B) 68° (c) 78° B)) Gurel Udl 51 oAl

(155 oll 159 w2 [A€2) — oAl (Aol stnyyds ai=ll wAcL sl w2 uAl [@Aseu ude 532

A B,C, D, E FuAGA U dysll ABL clleallHl Ul 52 8 — 1A, &losle ol 222l UAS dlgelM
el 5011 USL 1A A5 a5 Yz B, Gl Al sl Ul A A2, 6 Slser ua Aul [Blats B,
1. Culs Ul Slser B, el A dA2l WA Yeld 52l A wdoll A Aol F WA yelld s2cll otell,

2. BAs Y ARBLRR 8, ¥ WA Blas g A& o wldul yau 52 8.

3. D WS Yz Slse B,

4. UHlol YslRell cucA Scll AlSL WS o algolHl Yl 5l otadl.

5. A ARERA el UA A Geslel YU 52 B.

155. F oll calall sl 87?

(A) Qs (B) Sls2? Eh AR (D) Gurell Usl 816 otal
156. &AL cAlsalHl Yl 52 B?
(r)  wzk (B) &loSLE @) a=a (D) [Ratdl uUyrdl B

157. QL Qa8 sla d?
(A) FGE (B) EGA (C) BGF (D) Guzell U8l 8 o8l

158. oA US| 5o (Auuiat WY B?
() E o5 yu Qlas B B Adled yad 52 B
(B) E A5 uldl Blas D @ alallelul yaud 53 d
(©) G A5 Yo [Qets § @ wldul yau 52 8
(D) A 5 YW 51522 8 ¥ &leSIOUl yald 52 8.

159, aua gl 52 (Aot wig otell?
(A E wal B ABER42 B (B) A E [Qas B
(C) C Ul D 3522 B (D) F ua B ABRAm2 B

160. oA AUAAl [Qeualluiel sl) Qust(al) weRl) 8?
1. V51 A5 A=A vl B
2. mUls AWANA WAL B
3. YUAs WA vl aidlds dvan B
(A)  $5cl 4 Ul 3 (B) %5cl ?

| %5l 2 ol 3 (D) 4, 2 ¥l 3
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152. The ratio of areas of circumcircle and incircle of an equilateral triangle is?
(A) 211 {B) 1:3

(C) 14 None of the above

153. Two linear equations: x+y =3 and -15-3y = 3x has

{A) Unigue solution No solution

{C) Two solutions (D} Infinite number of solutions

154. In the figure below ~ pis 135" and angle - q is 143", If AB is parallel to CD, the value of . xis?

A B
p
X
B 4 D
(A) 45° (B) 68° ) 78° (B)) None of the above

Directions for {155 to 159) — Read the following information carefully and choose correct option for given
gquestions:

A, B, C, D, E, F and G are seven professionals who travel in three different vehicles — Maruti, Hyundai and
Toyota. Among travellers in each vehicle, only one person is male. Qut of the seven professionals there
are two engineers, two doctors and three teachers.

C is a lady doctor and she does not travel with pair of sisters A and F, who always travel together.
B, a male engineer, travels with only G, a teacher in Maruti.

D is a male doctor.

Persons having same profession don’t travel in same vehicle.

L

A is not an engineer and travels in Hyundai.

155. What is F’s profession?

{A) Teacher (B) Doctor

ﬁ) Engineer (D) None of the above
156. In which vehicle C travels?

{A) Maruti (B) Hyundai (Cf Toyota (D) Data Inadequate
157. Who are three teachers?

(A) FGE @) cea (C) BGF (D) None of the above

158. Which of following is correct?
(4%3 E is a male teacher who travels in Toyota {B) Eis alady teacher who travels in Toyota
(C) Gis amale teacher who travels in Maruti {D) A is a male doctor who travels in Hyundai

159. Which of the following is not correct?
@}, E and B are engineers(B) A and E are teachers
{C) Cand D aredoctors (D) Fand B are engineers

160. Which of the following statement(s) is{are) correct?
1. V51is arational number
2. misanirrational number
3. Every irrational number is a real number
{(A) land3 (B) 2

2and 3 (D) 1,2and 3
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

171.

4 Sls22, 3 [Alats wal 5 asld arA 3.7300 Acll A aducHl WA & 3 3 aslalal B /U UA B
A 2 Qasla Hadl 251 Feell B, dsll 3 Slsed Hndl 251 2 asldladl Hadl 251 Becll B, Al
udls [Qasa decll 251 vnd?

(A) 3.500 (B) 3.700 (c) 3.730 @ Gurel 14l 818 o4l
As (Qauella As udletdl w0 Ywol 9Bl Y Al : w{AW-55, owAcdl-73, oEld-58,

dllds [@suot—64, 0l [Qstot-62. ¥l YRS [AnaAA A8 1, 2, 1, 3, 3 B2Cll AR AUUUAUL
el sl dl dRd uras decl ad?

(A) 615 (B) 62.6 (D) 64.9
llu el 53 (Aerz ud Aell dewast
(A) 177 B) 2/7 (D) 4s7

%l 3. 1000 5% oll €2 AsclHl W daul €2 10 At caly YaAHl GRRAM A Al coovveveere v
o ugdl causyad 3. 2000 U,

(A) 16 ad (B) 16% adl (@} 167, ot (D) 16% ol
3x 3
O Al x ol (Buet 29l
1+
1-x

3/2 (B) 3/4 (Hy 172 (D) 174

B A vl ¥Radl 48 8lal Al AMoll 2. UL el AL U5 2 ual 286 &l L d
Aualdloll caurd qualdloll AR AU oo a3l

(A) 17143 @) 127143 (C) 247143 (D) Gurel Ul &S ol

As Al 1 BRYsas, 2 BR/sAs w4 BR/selsell 350 AsuY AR 51U B Aal A W2
5C 3 5Cs Aol 30 Mllzall yHaA A Bl A REAA 5d e wdR 51w ed?

(A) 3G () ERIR ©) 12 (D) Guet U4l 81 o1&l

o &=

5 : ; ;
:§’ ol WHIBHE AiettHl 2UQ o EHTD A (UL o a3l

|

%l 3 481 2Bl cUEFARH

(A) 48 (B) 52 (D) GuRell Ugl 5165 «dl

AUAL Aot H2 A5 geivis ol yEl 60° B. A A getvise] Anga 132/7 WAL dat Al adaell
Rora 32l 8217
3 6 Al () 7 Al (c) 8 AL (D) 9 AML

s uHlgoly szslel Asleel uRR (6+3J§) 2z 8lat, Al A Aslele] Axsn dad adl?

(A) 6 ALML (B) 36 ALHL (c) a8 AL D) Gurel U8l 518 o8l

A, B usal C ol slctoll GHRal ualnl 180 o &, 12 el udcll Aol GHRell 9JBLR 1:2:3 &cll.
dl ¢ oll eletoll Gur decll o3l

(A) 66 (B) 72

84 (D) Guzell Ul 51 o8l
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

171.

Rs. 7300 is divided among 4 doctors, 3 teachers and 5 lawyers in such a way that 3 lawyers get as
much amount as 2 teachers and 3 doctors get as much amount as 2 lawyers. How much amount
would each teacher get?

{A) Rs. 500 (B) Rs. 700

{C) Rs.730 None of the above

A student obtained following marks in an examination: English-55, Gujarati-73, Maths-58, Physics-64

and Chemistry-62. What is the weighted Arithmetic mean if weights 1, 2, 1, 3, 3 are allotted to above
subjects respectively?

(A) 615 (B) 62.6 © 63.7 (D) 64.9
The probability that a leap year has 53 Sundays is ......c..cccccoeveeune.
(A) 1/7 B) 2/7 (C)y 3/7 (D) 4/7
If Rs 1000 be invested at an interest rate of 5% and the interest be added to the principal every 10 years,
then the number of years in which it will amount to Rs 2000 is .........cc.......
(A) 16years (B) 16% year (€)) 16% years (D) 16% years
If 3x _ 3, thenthe value of K8 e,
2+ 1
1+
1-x
3/2 (B) 3/4 c 12 (D) 1/4

If the sum of two numbers is 48 and the highest common factor {HCF) and lowest common factor (LCM)
are 2 and 286 respectively. Then the sum of the reciprocals of the numbers is ...............

(A) 1/143 B) 12/143
(C) 24/143 (D)} None of the above
A person travels equal distances with speeds of 1 km/hr, 2 km/hr and 4 km/hr and takes a total time 3
hours and 30 minutes. What is the total distance the person covers?
{A) 3kms tgi 6 kms
{C) 12 kms (D} None of the above
If Rs. 481 is divided among three persons in the ratio of %%% then the least share is ..........
(A) 48 {B) 52
€ 78 (D) None of the above
For a given circle, the angle of a sector is 60°. If the area of this sector is 132/7 cm?, what is the radius
of the circle?
) 6cm (B) 7cm (C) 8cm (D) 9cm
If the perimeter of an isosceles right triangle is (6+ 3\5) meter, then the area of the triangle is
(A) 6m? (B) 36m?
(C) 48 m? None of the above
The sum of the present age of A, B and C is 180 years. 12 years ago their ages were in the ratio of 1:2:3.
What is the present age of C?
(A) 66 (B) 72
a 384 (D} None of the above
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(172 &l 174 w2 AEaL.) ol Aol Slresul Uiz yYsiell ouslAl A, B, C, D Ul E ol 5 i 8dd &
GeulEatoll AissIRAl AU B, 2l HRclloll Gulal 531 AL YAl sellol AL

et A B C D E 5ct

1995 10500 10000 15600 08450 20500 65050
1996 12240 12570 18750 12975 12385 68920
1997 14650 14230 17460 14300 15440 76080
1998 16800 10500 16320 15500 09570 68690
1999 12400 16600 14300 16430 11110 70840

172.

173.

174.

175.

176.

sell U AL OUSIRloll ¢ Ballg ot doll LAl Al 5l AAA 351206l estalld]l HetH odl?

(A) 1996 (BY 1997 (C) 1998 (D) 1999

at 1997 Hl Geuleot AAe USAloll Hr1e 32l B? /

(A) 14250 (B) 14300 (C) 17460 (B) Guzeu sl 81 ol
a SI D oll dH aldl &Ad Geuleatoll w222 Secll ag?

13531 (B) 13535 (C) 13541 (D) Gurell WSl 518 o8l

oAlAell (ML (?) ol woruB s¢ dva UaAd?
2,5, 4,18, 6, 39, 10, (?)
(A) 65 (B) 82 (Ch 105 (D) 125

A5 UBEQs el “CHENNAI" ol WS “EJGPPCK” 8l2l cll “KOLKATA” ol 585 dlal cluilal?
(A) LPMLCUC (B) MaNmeve (C) MNKJZSZ (D) IMJIYRY

(177 &l 180 W2 [AZ2): €35 Ul A5 U Aol 6L Qullell (1) ol (2) WUUHL AUl B, dAHR A
(efar s2eall B, ¥ (Atitolll vt 2Ae HUEAl 2Tl Ustell saltol 2ual Uvd B ¥ 3. dulsl
agcllod ol A Yosol UL,

(A)
(B)
(C)
(D)

177.

178.

ol (Aaitot (1) Vsef WAL Yol sellol el vt B

ol [QAellol (2) Wse] AUAA Ystoll wellol el UAdltd B

ol [@ulet (1) Wl [Atllot (2) ol WAL Usloll S UL WU WLAAUS B

ol [Aetlet (1) wal [Atllet (2) ot A UBL AL UHoll el uual vlid o2l

@Bl @Qsiy Wi s doly B2

1. ([@Batetl WsrA e WM ctoll Ueell Attt A 5185 UeS wdot otell.

2. Qs uell Adidl Adotioll cidaiusll B.

(A)  [Qauet (1) Ase] HAAL Ystoll el Ul ualid 8.

(B) [Autet (2) Asd] AL Yssll wallol AUl Urd B.

(o)) @Qtitet (1) el (Aot (2) ol AU Yol Fellol AU 2L2AS B,

(\x{) [Qedtet (1) el [Qeilel (2) HRA U WLl AU YRl wallod el valivd o8l

WAL HBAM 141 Bad sl alr 622

1. HEelol Becl Rad guar .

2. el 17l AR Al elenz ®.

[Quitet (1) Ased UAAL Ustoll welol Ul ualtd B.

[Qutat (2) Asd] AUAAL Yatoll sl el walid 8.

Qettet (1) el [Qellol (2) URA AL YLl Fellol MUl wLAS B,

Quttet (1) el [Qellet (2) HRA U Bl AU YRl wellod el valivd o8l
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{Directions for 172 to 174)

In the following table, total production figures of 5 types of cars A, B, C, D and E in 5 years are given. Answer
the given questions using this data.

Year A B C D E Total

1995 10500 10000 15600 08450 20500 65050
1996 12240 12570 18750 12975 12385 68920
1997 14650 14230 17460 14300 15440 76080
1998 16800 10500 16320 15500 09570 68690
1999 12400 16600 14300 16430 11110 70840

172. In which year the total production of all cars has seen maximum percentage change from its previous

year?
{A) 1996 1997 {C) 1998 (D) 1999
173. What is Median of cars produced during year 19977
(A) 14250 (B) 14300 (C) 17460 (D)) None of the above

174. What is the average production of car D during all years?
13531 (B) 13535 (C) 13541 (D) None of the above

175. Which number will come in place of (?} in following series?

2,5,4,18,6,39, 10, (?)

(A) 65 (B) 82 @ 105 (D) 125
176. In a certain code language “CHENNAI” is coded as “EJGPPCK” then how will ‘KOLKATA" be written?
{A) LPMLCUC (E} MQNMCVC {C) MNKIZSZ (D) IMIIYRY

{Directions for 177 to 180)

Each question has a problem and two statements 1 and 2. You have to decide, if the information given
in the statements is sufficient to answer the question. Indicate your answer as

{A) If statement (1) alone is sufficient to answer the question.

{B) If statement (2) alone is sufficient to answer the question.

{C) If statements (1) and (2) both together are needed to answer the question.

{D) If statements (1) and {2) both together are not sufficient to answer the question.

177. How is Brijesh related to Vikas?
1. Chetana, wife of Brijesh’s only brother Amit does not have any siblings
2. Vikas's wife Mitali is Chetana’s friend
{A) Statement (1) alone is sufficient to answer the question.
{B) Statement (2) alone is sufficient to answer the question.
(C) Statements (1) and (2) both together are needed to answer the question.
tI){ Statements (1) and (2) both together are not sufficient to answer the question.

178. What day is the fourteenth of given month?
1. The last day of month is Wednesday.
2. The third Saturday of the month was on seventeenth.
Statement (1) alone is sufficient to answer the question.
Statement (2) alone is sufficient to answer the question.
(C) Statements (1) and (2) both together are needed to answer the question.
{D) Statements (1) and (2) both together are not sufficient to answer the question.
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179.

180.

181.

182.

183.

184.

185.

186.

187.

Q ol P A s Aoy B7?

1. MUl ZUW QG oll BB B wal P A Z oll Y 8.

2. QAU Tl QB

(A)  ([Quiet (1) Ased WAL Ustoll walol Ul ualtd B.

(B) [Autet (2) Asd A Yssll walol AUl wlrd B.

€)) (Quuet (1) el Aot (2) oA UG Yol FAOL AU ALHLUS D,

(D) Quet (1) uA Quutet (2) el W welL wUAC Usall waol 1yl vaitd oell.

Yol Bectl sl Aancan?

1. yxd dndet Wsd, Boll siewel waadl ool Yeal 7 4l 12 sl dell As s2slel
Aslastl selol Heal Baal B

2. Yol coll el ay wsd Anc B,

(A) [Qtist (1) Asd AL Ystell weol wual walrtd 8

[Qutet (2) WUsd WA Yol allol wuel udind 8

(€) [@Quat (1) Al [Quutet (2) LR WAL Ysloll Sl AU WLARUAS B

(D) Qulel (1) Aol Qutet (2) HRA UE UBL AHAAL Yl wallod vuel walivd o8l

A5 cotedol Wloll 20 W Aol udliletl axsmn 42 A AL, 30 2L AL 44a1 35 2L A sl
dl doj UASO ..o A ?

(A) 107 wot Al M 210 ot AHl.  (€) 214 wat AMl. (D)  GuRell Usl 818 otel

ofl Aslalell €35 olloge] WU o1y sRaAUH] AL A Aol AASOHL counnr..... 25l auRl ud.
(A) 200% (B) 275% ) 300% (D) 333%

oAl w Al Qeusluiell si(aul) Quot(all) W3 (D) 872

1. %l ABCD dMidRolY Umslel 8lat dl ~ABC ual ~BCD Asollael 5250 8.

2. %l ABCD uHolly UQwslel 8l dl Aol (Asel AC sl BD A5 oflontell dol [Getlss sl 8.
(A)  $5cL1 @) ssc2 (€) olol1ua 2 (D) 1 ua 2 Usl 81 otgl

W5 cdlRall (Agct el Aol dolleSoll AHYHBHL Al doll cUMoll adlell clrel YHIBIHL UA B,
ol 200 AL dotld uUA As Adailan Al calyell dlrell waRY 20 28 sl A dzal ¥
cloll 500 AH clolleSoll cllrell A 0Ll

(A) 25 24l6l (B) 40 248l ) 50 sl (D) Guzell WSl 5185 o8l

100 s13atR s sH 50 Rauul yel 52 B, A s 243 531 10 (Baat sid sall ol 4l 51
psuell ugl etz A M2 ay 100 SR Asadl wA 8. dl olsle st yel sal deal Ean
ALLAL?

(A) 15 (Ea

B) 20 Rau (c) 25 (an (D) 30 Baw

o 20090] 5A5? gl arl W2 sIH wUU?

(A) 2011 (B) 2014 (D) 2017
(F1ct 20l : (6561)0.16 x (6561)0.09 = ?
() o (B) 27 (c) 81 (D) GuRell Ugl 5185 &l
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179.

180.

181.

182.

183.

184.

185.

186.

187.

How is Q related to P?

1. MandZ are brothers of Q and Pis son of Z.

2. Qisfatherof T.

{A) Statement (1) alone is sufficient to answer the question.
(B} Statement (2) alone is sufficient to answer the question.

C) Statements (1) and (2) both together are needed to answer the question.
{D) Statements (1) and (2) both together are not sufficient to answer the question.

How many marks Pooja scored?

1. Pooja’s marks are exactly equal to the value of hypotenuse of a right angle triangle having values of
two sides adjacent to right angle are 7 and 12 respectively.

Pooja secured highest marks in class.

Statement (1) alone is sufficient to answer the question.

{B) Statement (2) alone is sufficient to answer the question.

(C) Statements (1) and (2) both together are needed to answer the question.

{D) Statements (1) and (2) both together are not sufficient to answer the question.

The volume of a rectangular box whose area of three adjacent faces are 42 cm?, 30 em? and 35 o is

(A) 107 cm? @& 210cm?

(C) 214 cm? (D) None of the above

If every side of atriangle is doubled, then percentage increase in the area of the triangleis......cccccoveeenee.
(A) 200% (B) 275% (5:} 300% (D) 333%

Which of the following statement(s) is(are) correct?

1. Let ABCD be a parallelogram, then .~ ABC and .~ BCD are complementary angles.
2. If ABCDis arhombus, then diagonals AC and BD are perpendicular bisectors of each other.

(A) Only1 @) only2
(C) Bothland2 (D) Neither 1 nor2
The electrical resistance of a wire varies directly with its length and inversely with the square of its

diameter. If a wire with a length of 200 cm and a diameter of one-quarter of a centimeter has a resistance
of 20 ohms, find the electrical resistance in a 500 cm wire with the same diameter

(A) 25 ohms (B) 40ohms
(:{Z) 50 ohms (D) None of the above
100 workers can finish a work in 50 days. 100 workers started the work by working for 10 days. To finish

the task as soon as possible 100 more workers are employed. Find the number of days required to finish
the remaining work.

{A) 15 days

20 days {C}) 25days (D) 30days
Calendar for year 2009 will also serve for the year?

(A) 2011 (B) 2014 2015 (D) 2017

The value of (6561)0.16 x (6561)0.09 =?

{B) 27
(C) 81 (D} None of the above
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(usl 188 &l 190 W2 @E2)
w0l ysllell Qotdl ealadl wRil @seu det wusAullell Guallol 531 e 530

188.
189.
190.
191.

192.

193.

194,

195.

196.

197,

198.

199.

© O
A B e D

el stsez, =l (€

Helloll (@, yal, Aogllst 2usizibu (B

GlL3l, GlRR], Uslel (A

A 511013l M Al N ol 215 sLH s2cll AscltHl 2d 8. %l M AsAl 514 53 dl dol Al ol 1 514
52 dell 5cll 8 SCLS cltll? Al 8. dall %l N ASAl 511 52 cdl dol Al el AL 51 52 dell 52l
4.5 SCUs AW Al B, dl dRsl WA sid yel sl d2cl uMa dLdl?

(A) 3 sCUs (B) 4 5CUS ) 6 sCUS (D) Guell U8l 818 o8l

(Saect Sl : % {1800 + (11 x 24 —8 x 3) } + 1/8
(A) 1/4 (B) 1 (C) 5/8 (B Guze Usl 81 olel

As yels Avaual 40 ad oppianedl 3s otdfl Avall UA 8. A ol dvalle] Uy A ya dvalsil
aslyo s2ctl wmg B, A yals wven 04l
(A) 16 B)) 25 (C) 36 (D) 50

AR s ddousiz Axtell $2a 1 2A6es Uld scusedl 25U WA B, daul YR Aol 524 6 2Ges yld
scllsell s €13 8. A oA AR 7.40 A As o Bl oldell a3 53 A A As ollostal
yHalr salz Hnal?

( YallR 7.48 <dl (B) ™R 7.50 <l

C) AR 7.52 adl (D) Gurell UL 815 o8l
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{Directions for 188 t0190)
Choose the correct option showing the details of given questions using following Venn diagrams

YO @

188. Police, Doctor, Woman (C
189. Milky way, Sun, Andromeda Galaxy B
190. Window, Door, House A

191.Two workers M and N are engaged to do a work. M working alone takes 8 hours more to complete the

192.

193.

194.

195.

196.

197

198.

199.

200.

work than if both worked together. If N worked alone, he would need 4.5 hours more to complete the
task than they both work together. What time will they take to complete the work together?

{A) 3hours (B) 4 hours (Q 6 hours (D) None of the above
Find the value: %4 {1800+ (11 x 24-8x3)}+ %

(A) 1/4 (B) 1 (C) 5/8 (B} None of the above

A new number is obtained by multiplying an integer by 40. The cube root of this new number is twice as
much as the square root of that integer. Find the integer.

{A) 16 {C) 36 (D) 50

Rajesh walks around a circular field at the rate of one round per hour while Sumit runs around it at the

rate of six rounds per hour. If they start from the same point at 7.40 a.m. in same direction, they shall
first meet each other at:

{A) 7.48 am. (B) 7.50a.m. (Q 7.52a.m. (D) None of the above
Two trains having equal lengths can cross a pole in 18 seconds and 12 seconds respectively. If they are
running towards each other, how much time they will take to cross each other?

{A) 75/8 seconds (BJ 72/5 seconds {C) 18 seconds (D) None of the above
What is the 6th term of following series:

2,-1,1/2, ...

(A) 1/32 (B) -1/32 {C) 1/16 None of the above
ABC is a triangle where AN is perpendicular to CB and BM perpendicular to AC. The length of BC is 16,

that of ACis 24 and that of AN is 12. Find the length of BM.

@) s (B) 12 () 18 (D) None of the above
Sudha walked in the direction of sunrise for 200 meters. Then she turned to her left and walked 150
meters. Then she turned to her right and walked 250 meters. Finally she turned again to her right and
walked 150 meters and stopped. How far is she now from starting point?

N 450 meters (B) 550 meters {C) 750 meters (D) None of the above

pider : Insect :: Bat : (?)
' Mammal (B) Reptile {C} Amphibian (D) Bird

Choose the figure which is different from other three.
LA [ E | z | N |
(A) A E ) z (D) N
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